ote Title

AREA BETWEN T4/ <uRyfES

5’"4' Find the area between the curves y = 332 +hrandy =3 — a:2 betweenx = —2
andz = 0.

0o
j 3-x* -(x*+5x) dx
_—l °
= ~2x" - 5x +3 dx
-2

- /O ((—22* — 5z + 3)] da

2

Ml ' g i
—[—3:1: 2:1:+3:v}2

16
=0-— [E—lo—e]

= 10§ sq units



’Ei( . 2 Find the area bounded by the curves

—

y=2a+bzandy =3 — 2°.

Here THE BoINOARES

ARE GHERE THE Fonctions
INTERSECT .

So LiE NEEO TO fwo o\/b

b W
jp(,) o ~ b

THIS (5 PonE /\3.7 ERUATING THE 7wo Fwdld'us

x>+ 5x = 3-X¢

Points of intersection occur where:
a2’ + 5z =3 — a?

222 + 52 -3 =0
(z+3)(2z—-1)=0
Sor=—-3orz=0.5

Now :
" oS

ARZA :j Yper ~ [owwER c(x
-3

:/(;5([3—$2] — [2* + 5z]) da

= 14.29 sq units



)

£X

find the area between:

\

y =2z’ —landy = z?

PRRIPREPI, " S
-40 -0.5 0.5 1.0

THIs 1S Na DIfRerenT THEN FREVIIS é’xAﬂp/cS .’ A &

TUsT INTEGRATE j Tor | gorram tj
Fd - J(x)

FIND INTERCEPTS :

zxa.__l =X1



et

_ Determine the area of the region bounded by y = 22% + 10,y = 4z + 16,z = —2and z = 5.

o THE OO Sen7cdirod ./
o JOMSTIMES THE Ypper’ Ano Lomen”

INTERCEPTS : — o
Ux+16 = Zx* +10 ' 0
0 = 2x™ ~Y -¢ X=-1,3

9 = x* ~2x -3 »
0 = (x-3)(xw) O SIHIE NGNS,

5

4z + 16 — (22* + 10) d:c+/ 22> + 10 — (4z + 16) dz
3

-1 3
A:/ 2w2+10—(4z+16)dw+/

- -1
3

5
:/ 2m2—4m—6dm+/ —2w2+4m+6d:1;+/ 222 — 4z — 6dzx
-2 -1

3
5
2
= (§m3 —Pig® 63;)

—]

u 2
- (—m3 — 9a® — 63:)
L 3

2
- (—§m3 -+ 222 - 63:)

=9 3

_14+64+64
! 3 3
142



